STA Summer Math Packet

For

Sixth Graders Entering Seventh Grade

Dear Parents and Students:

We are so proud of our sixth grade math students and look forward to having them
in seventh grade! In order to maintain academic success, we must continue to
learn, practice, and review, even over the summer. By taking time to review and
practice essential math skills over the summer, students will create more
opportunities to find success the following year, while preventing summer learning
loss.

Every mathematics student will need to complete a summer math packet. This
packet 1s due on the first day of school and will be counted as the first grade of the
nine week grading period. A hard copy of the packet will be given to each student
before the end of the year.....so, parents look out for them! Please wait until the
summer to begin working on this packet. For best use, it is recommended to
complete 3 or 4 pages a week throughout the summer. If you lose, misplace, or
just find yourself in need of another copy, you may find one posted on renweb or
you may access a copy on your child’s math Moodle page. We hope this packet
will help students feel more confident when returning to school in August. We
look forward to seeing you all next year!

Have a wonderful summer!



Sumer Math Packet
For

Sixth Graders Entering Seventh Grade -

Write the value of the underlined digit

1.) 842,976
2.) 761.0325

3.) Write seven and ninety-six-thousandths as a decimal.

4.) Write 9.204 in words.

5.) Write 0.0000073 in words.

Comparing and Ordering Decimals’
- Write the decimals in crde_éf from least to greatest.

6) 721 0712 721 0721 07

7.) . 0.01010 0.10101 0.01001 0.00101

Compare using <, >, or=.

8.) 0.000307 0.003007 :
9.) ~6.954 -8.96 ‘ v Page 1



Rounding

10.) Round 15,763.753 to the nearest hundredth.
~ 11.) Round 96.3721 to the nearest tenth.
12.) Round 123.9842 to the nearest whole number.
13.) Round 2,348,721.5295 to the nearest ten thousands.
14.) Round 287.261098 to the place of the underlined digit.

Adding and Subtrac}tingDecimals»

15.) 76.87-45919= 16.) 36.283~9.72 =

17.) 1345.734 + 86.58 = . 18.) 9-3.245 =
19.) 16 + 48.792 = 20.) 1.309+2 +28.6 =
21.) 26.32+0.2877 = 22.)13.8-6.8412 =

Page 2
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Multiply 543 X 1.8. . - . | ‘ -38.95 + 15, Lo
@ Multiply asif ° 5.43) 3 decimal @ Rewrite the problem 1.5)38.25
the numbers . x 18 places ' _with a whole
Wér_e whole - 4344 " number divisor,
numbers. +543 - @ Place the decimal . 1.5)3823
®@ Count the . 9.774@3 el point jn the - “«F ¥ ’
total number of . p{‘;c;g‘fg * quotient. Move 1 place each,
" decimal places '@ Divide. -
. ‘ . Divide. : : 255 7
in the :far;tors. - , *  Then check. ' 15)382.5
® . Place the decimal - : ' ‘ =30
© point in the product. . : : SRR 82
| . L =T
75
~7.5
- 255X 15=3825¢
~ Mnktiply fo check.
Find each product, : '
o142 -2 22 o3 s11 4 368
X 12 X 4.1 - X 03 . X 5.8
5 28X0.05 . 6. 145-07 C7 (07)(49)
8. 9.3(0.56) 9. 0006B.75) . 10. 38 %912 "‘

| %ﬁg 3
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o divide a decimal by & whole nurmber, first 1 !

place a decimal paint In the quolient directly 4.5 D.05
above the declmal point in the dividend, gr40.5 @7} 1.85
Then divide the same way you divide whole 38 186
numbers, Sometimes you must wilte leading g g

|

zetos after the decimal point in the guotient.

. Divide. Write leading zeros in the quotient it necessary, .

. 2% 135?9.-599 30, 2272543 3, B83)0.693 32 52104535

_ Sahfe;
73, Palc Chuen bought
new strowboard for
- $210.88. He pald for it
- in & equal payments,
‘How miveh was each
payrment?

?@3& L@



To divide a decimal by a decimal, foliow these steps to form a simplified problem.

1. Move the decimal point to make the Step 4 Step 2 Slep 8.
divisor a whole number. _ 7.5

2. Move the decimal in the dividend the 0.1617.2 48.] ’iég 16.J120.
same number of places. You may need e 112
to write a zero In the dividend. ‘ gg

3.;Place the declmal:point in the quotisnt
and divide. Remamber to write leading
zeros if necessary.

Divide until there is no remainder. Place zeros where they are needed.

3.+ 381341 35, 0.002847+0.73 . 3. 869+0.011

77, 0001071051 .

§o¥ve.
A sallbeat fraveled
80.15 Kilometers up &
tiver in 7.5 hours.
What was ths average
distance per hour?

| ‘ | ‘ ‘?aaﬁ 5
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Comparing and Ordering Integers -

.-.ﬁll'C“l'U!-GQOCOll.G.IOO‘I.'ﬁ‘lI.QQ.""‘GQ‘G.ﬂﬂﬂ.."...“.ll“"ﬂll'l.l‘l.i‘

The numbers 2 and —2 are opposites. The numbers 7 and —7 are opposites. ‘
Integers are the set of posmve whole numbers, their opposites, and zero. -

& . & Py 2. S, & s A e
¥

& A
3 A A 4 ad A4 ¥ o & &

7 6 5 -4 -3 -2 -1 0 1 2 8 4-5 6 7

E

negative - - zeto ~ positive
You can use the number line to compare integers. T
-2 s less than 0. o " . 7is greater than 2.
-2 <0 . " o T>2 ’
Numbezs to the left are léss. . Numbers to the right are greater.
—2 is farther left than 0. . - 7is farther right than 2.

“The absolute value cf an integer is its distance from zero on the
number line. Distance is always positive.

The absolute value of —5i§5. . . The absolute value of 3 is 3.
|-5]=5 ' : | 13] =3

’.:Compare using <, >, or =. ‘
142 s w32 3314
g -1d-2 5. 015 e 0[]-4
7. -6[1a . -s[1-2 o 3[]0 |

w0, —7[J-100  mo-w0l]wo 12‘ 1 D-l .
Find each absolute value | " .
N @5. [
1ol =— B A T T p—
19. [6] 20. ]~10[=_h_____ ‘ A_gqv.;,l-‘jzo.|=.»ﬁ__~_m‘ .

Order the nnmbers from least to greatest. ‘

2. -45-201 . o 23.6,-3,25,4,-6 o . oo

2. 3,-5,4,-4,-T.0 . 2513=7,-6,5-2.

Tage b
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L - Adding and Subtractmg Integers

t.alll&nhﬂni.ltvvtl.iittllS!!Ol!l&ﬂl‘oIGl‘a.l.&t‘ﬁﬁ#ﬂ%!l!h‘!uﬂ!lnitlt.!iélol.a'U,.

Use these rules to add and subtract integers.

' Adding Integers -
 Same Sign - " . 7T Different Signs

-e The sum of two positive integers is positive. ® First find the absolute values of each

" Example: 6 + 16 = 22 : number.
s - The sum of two negaﬁve integers is negative e ‘Then subtract.the Iesser abselute value from' :

Example: =9+ (=3) = =12 : the greater. .- g
. ‘ ' - | The sum has the sign of the mteger mth the

‘ ~ : . greatér.absolute value, :
_Example: =10 + 9 = —1

Subtracting Integers

. o o To subtract integezs, add the opposite. : . o
¢ Then following the rules for adding integers. | . NI o
Example 6~ (-3)=6+3=9 : ‘ ‘ S
Find each sum. - z o )
1. 8+.(=2)_ 2 -9+4 3. 34 (-2)
1 —1+11 5. 12413 _ ' 6 ~0+5 ’
7. 742 s.,-1‘-_z~ (~7).- 9 =340
10. 1+ (~1) _ M. 6+5 12 34 (29)
Fmdeachdlffereme. AR i
17. 4——5 T 8. ~5-4 _ ‘: ‘ e Sg—(-7)
20. 19~ (*6)m-_;; 2l -10-12 L ars1n-qg
23, 4= (-5) % 2-(8) 5 9-()
2 0.3 .68 30— (-10)

. 'dpaa@%?



Name A ~ Class’ __Date .

-
S

Mu!’csplymg and Dnvxdmg lntegers '

l*v',““."uv‘v.“.'..""...".'."..‘.'.‘..".“.'.‘....".."'.ﬂ.’.'.'.......

To multiply integers: L To divide mtegers.
« If the signs are alﬂze the produot is - | e Ifthe szgns are alike, the quotient is
posmve o ; pos1t1ve
2+ 3=6 - 6+ 3=2
D=3 =6 . . —~6+ -3 = 2
o If the signs are different, the product is © If the signs are different, the quotient
. nagatlve o . . is negatlve .
‘2,*”3 ==6 " _ ' 67-3=~—- :
~2+ 3=—6 , : 6+ 3=-2 -

Study these four examples Wnte posmve or negative to complete
each statement. :

732w 7e-3=-21
“7e-3=21 - . . L =7e3=-21

1. When both intéegers are positi"ée, the p&oduct 18 e,
2. When ohe iil‘cecrér is positive and one is negative, the product is

3 ‘When both mtegers are negamve the produm is

204+ 3=7 ~ ' 3=

21———~3--7 o =213 -7
4, When both integers are pcsmve, the quotlent is
- 5. When both integers are negative, the quoment is

* 6. Whenone intéger is positive and oné is negative, the quotlent is

Teﬂ whether each producﬁ: or quctient will be > positive nr negative.

747 ] g —4.7- 0. —4-=T - 0. 4.—7]
M. 2854 12 284 13, —28+57 18 28+ -7 .

5.10-=47 M6 -25+5 0 (7 -2 00 187100471600

7’%@@, §



Name: ___- - . © . Date:
Computiaé With Integers Worksheet .

Find each sum.

1) 14+ (22) =

2.) -36+14=

3.) 26 + (40) =

4) 38+ (-54) =

Find eacﬁ difference.
5.) 28 — (-36) =.

6) 14— (-18) =

7) 29-44=

8) -18-36=

Find.each product or quotient.
9) -l4x-6=

10) (22) (7 =
11.) .(14)68) =

12.) -96+-12=:

13) 63 +3%

14) 126+-9=

Sbivelthe féli_owing.
15) 4+ 16~15-18 + 8~ (-10).=

16) -22-15-8 + 20~ (-15) =

) "po«gé« %
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B _ Graphing Points in Four Quadrants

ti. b vbﬂﬁﬂl.il.i‘l!&&.‘..l.ﬁlﬁ@é"!'l!'!ﬂ!D.ﬂﬂﬂ"laOO.Qllll.th!ll..I!ﬂliﬁOtﬂl

- Name the point with the given coordinates.

1. (2,2 2 (8,0 — ; -
3. (4,-3) 4 (-7,3) — 5
5 (0,-5) s.‘(~s -4) N T
2 v4
Write the coordinates of each point. T g T
LEL a4 . BSTE
9. H 0K___ o EREaT 2 -
M6 g o '
’ fderitify the‘ggua&rant in which each ﬁoint lies. 4
13 (4,3) g2 5. 5,-8) . . 6 (-2,-7)
Graph the line containing eaﬁh pair of poings. Edentify the line as ‘
vertieal or horizontal. . . . <
17. (3,6),3,~2) | x 18, (—1,5)',(3,5‘)_
oy - . § S o 03:
o o N
—§ |4 4 * -8 |-k 4 *




Find the mean, median, mode, and range for each set of data.

flo,  30,38,42,38,17

Mean____ ~ Median

Jife 518, 581, 508, 588, 580
Mean Median

Order of Operations

{7 12432+4~]5=

Mo 21812 +4)-16=

Mode Range

Mode - Rangs

U3, 45+ 3+(10~5+2%)=

1150 50+ ((4+ 5y~ (36 +2)) ~ 91 =

\
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To evaluate an expression, substitute a
value for the variable and compute.

Evaluate 5y — 8fory =7.
- 5y-—8

5X7—8 <— Substitute y with 7.

35 — 8 =27 < Compute.

Class ‘ . Date

Evaluating and Wntmg Algebraic Expressions

.'.l..“ﬂ..l"“.“!ﬁ“’..lo...‘.'.“.'I'I"i'ﬁ"".l"’.‘I..‘..“‘..'.ﬂﬂ.....l‘.

You can use key words to write a word
phrase for an algebraic expression,

at+t5 — ’GPIESS. ‘
or aq mcreased bys

2n - the product of 2 and n
or Ztimesn-

—

_Evaluate each expression using the values y = 4, z = 8, and p = 10.

5.3y+6=__ " B4z 2 =

10. Zp"+ y =

C1.p+2p=

8.3z Xz =

M.8p—p=

12,3y + 2z = -

Write an algebralc expression for each word phmse.

17. x fewspapers plus 10

-19. 3 more than x envelopes

18 4 less than x teabags

20. 6 times x school busés




A ohe-step ecquation contal
both sides of the equation.

X4 2=9 ‘¥ -15=45 2%=6

ns one operation. To solve it, use the inverse operation on

¥
e = 25
4
Subtract 2 from Add 15 to each Divide each side Multiply each side
each sfc{{;. slde, by 2. by 4,
X4d= B S 2 6 Lora=05.
-2, i, ?4%5 HiB BT 3 i .2.5 4
i Bt &L e PR ¥=8: - y £10°

Solve. each equation.

48 x+15=31 49 y-2=7 s 6m =80

A two-step equation contains two operations. Ta sol

ve it, use the inverse operations on
both sldes of the equation,

$-9=15 by + 15 = 69 |
First add 9 to each side, First subtract 15 from each side.
S -94+9=154+9 6y + 16~ 15 = 69 - 15
e 4 6y = 54
Muttiply each side by 2. Divide each side by 6.
A,ﬁm_g_fzﬁz.? b 55 ¢
2 1 RF - B 7B
X = 48 Yy=9
Solve, o
Mo 8x-16=17 % Lii0=2s B 2wB=16



Name C_Igss Date:
_ Fractlon;s and Decimals
0 ~0—1 02 533 04 0.5 06 0.7 08 09 i(} 11 12 13 14 o
o T 3 L 1 1%‘ S

To change a fraction to a decimal, divida the

numerator by the denominator.

2 {Think3+5

To change a decimal to a fraction:

@ Read the decimal to find the denominator.
' Write the decimal digits over 10, 100, or '
1,000,

0.6 ' 6
553.0 0.65 is 65 hundredth'g '""*TG’G .
30 @ Use the GCF to writé the fraction in
5 , 0 simplest form. .
5=06  The GCF of 65 and 100is 5.
65 65 4 5 .. 13
00 T 1005~ 20.
White each fraction as a decimal.
. . . B ¥
' 4 .- _3_ . .
Lz = 7=
1 _ 2 _
4, 7= 5 § =
- g 1. 3 _
7- 9 — . 8: S — -9» 8 -

Wﬁte each de#imal as a mixed number o fraction in simplest form.

e

10. 04 =

430035 =,

— st

16. 0.625 =

'Orﬂ,er fmm least to greatest,
19. 25,4,23

S 075 =

7. 078 =

resss ettt bt - -

14, 27 =

R

?Qg&



Name Class
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: Date

k. . ' ‘ - Adding and Subtracting Mixed Numbers

Olttﬂﬁﬂﬂﬂﬂﬂﬂtéiiv-ﬂlqlilﬁ.'!tﬁt.006’0‘.!!0’!0"(00"IﬁOOGli'lOCBIODDlDQ'H'QQaICBO

~ Follow these steps to add or subtract mixed numbers with different

22, Shea cut 2§ in. material off of the bottom of g/ 21 in. skirt. qu

Iong is the skirt now?

denommatom
Add: 2% + 1% Subtract: 4% - 2%
@ Write the equivalent fractions 22% + 1%% 4%~ 2% "
.with the LCD. : :
(@ Renams, if necessary. 4%-& 3+1%=38
-(® Add or subtract the whoia' numbers, 22% + 1%—8» = %8— 3% —0d 1%
Add or subtract the fractions. A S
@ Simplity. - o 3B =43 12=1}
b
Find each sum or djfference. Write it in sxmplest famL =
4. 23 +110 5. 23 + 3 6.5-3
S 3042 1
7. 33— 24 8 43 — 12 9. 3L + 4}
3 143 Ly 3 L6l
15 3 53 1.3
6 2+ 52 17. 7% — 32 18. 5 =23
7 5 L+ 4l
19. 9%+ 1 - 2.6 — 53 21, 4t + 43

””P&%g, |



Date -

Name : - . Class

Fo}low these steps to multiply fractions and miked numbers.
Multiply: 4 Z

#

Multiply: 25 - 13

Multiplying Fractions and Mixed Numbers -

.OQi‘t‘l‘i&.“‘l.t.i'l'l!l"..t'lacll. OD'lll.QQ.l!tuuQ‘OUOIOGEBQ’Q|.QQ.‘.‘...'°'.

(D Write the mixed numbers as - ! % . _185
improper fractions if necessary. ,
(2 Multiply numerators. %—% = % %_-%31 - .12%?
Multiply denoxmnators : o .
® Slmphf;f,lfnecessary. 2% = i% ) l'Zi' 41
N Fmd each product. Write the produet in simpiési form. a
5 | 2 g— »
4. 5% 5.5+9
5.3 S 344 .
6 1210 gty
..1‘ 4 1
855 % 35%
L | X
10. 155 e ) 11. 13.3%
12 2. 3 2.1
12. 2% -3; 13, 255
4.3 s 151
1‘}- 45 bl 15. 7 28
3. 95,41
16. 32 -2} 17. 22+ 13
2.9) "5l g2
| 3.
20. g 35 21 74. y)

ssﬁ;«j



To divide mixed numbers, first change them to fractions. Then divide by multlplying by the
reciprocal of the divisor,
: o1
7 oy SRS S NN T

1:-.?...-%:..-2..-«’? 2w
82.14w2.4*—'1?)'\‘z"”2

Pivide. Write each answer In lowest tetms. ‘

]

of ot .2 47 5+ 1% o 43 2% .2d.
A 2 qp L2 S Y NPT
4. %5 12 = o s syl LS

ot

Solve. Write each. answer in Jowest terms.

2 The Wing famgy has & tailor shop. Mrs.
Wing spent 2 hours replacing broken
‘zippers today, If it takes her ~;{~ “hour to
do one, how many zippers did sha
replace? '

?&g& «1;7 |



Fra.ctims, Decimals, and Percents

The same number can be named as a fraction, & decimal, or

a3 percent.
80 8 4

6 T 0T F

mﬂﬁﬁﬂm@,g

T = 80%

“To find an edquivalant fracﬁon in higher terms, multiply both
termss by ‘che same nurﬂber

4}{2
TR ‘IG

To find an equivalent fraction in lower terms, divide both tetms
by the sare pumber. Use the Jgreatest common factor (GCF} tc
find the {QWESL Larms, or szmplesi form.

8+ 20 _ 4

80+ 2 2 __ 40
00+2 5 100+20 5

Decimals name fractions in place-value form. o change a
fraction to 8 decimal, divide the numerator by the denominatcr

?&4 + 5= {80

. Fercents narme fractions as a part of 100, To change a percan’r
to a decimal, drop the percent sign, %, and move the decimal’
point two places to the feft.

32% = 0.32 , ,
To change a percent to a fraction, first write it as a decimal.
Then change the decimal to a fraction and simplify.
32 .8
32% =032 = 3 = o
To change a fraction to a percent, first change I to a decmaf
Move the decimal point two places to the rightand add a

percent sign,
2 =3+ 8= 0375 = 3.5%

ﬁgmeﬂzéem '

*I‘he telms of o Lracf::o"l
are the nmneram and

:denaxzxinator

T campale fractipns,
first wrlte them as
equivalent fractions

i th hfce deriominators.
S e

o begausd,
.

. g
RN 100 (1 i
Use (e 1&&5% ccmmm

' )mﬂtlpie (LCM} of the

denominators to find
eqnivaleni fractions,

To Sothpars desimals,

ccmpa?a digits I the
same places. Comparg
benths fo tenﬂla,

‘hundredths to’
bundradths, and so on,

0.5(} > 0454
5 tenlhs > 4 tenths

" Zercs tralling the last

sxgrahvavi: digit of g

Haexmal do npt change

its valgzﬁ.

- 50/6 0.50 =05
506}% =500=5

When a frackion
divides into a
repgating decimal,
write the part after the
hundredths asa
fraction.

+=103= 030,

0.33= 33+%

\8



Name:

Date:

Activity Worksheet 63

l Percents, Fractions, and Decimals

Write each percent as a decimal and as a fraction in simblest-form,

Decimal 2 Fraction

1) 130%

2.} 452%

3) 0.1%

4.} 240%

5} 0.16%

B.) 345%

7.) 0.5%

8) 0.75% .



Finding a Percent of @ Number

Example: Let's find 30 percent of 400
' First change 20% to a decimal by maving the decimal point 2 places to the lefr.

30% = 0,30

Then multiply.
o 0.30x400=120
30% of 400 is 120,
RRACTICE

Directions:  Find the missing number,
T 447% of 46 i what number?

W 3(}% of ?D is what nurabert?
T 73%of 79 Is what number?
71 24% of 10Cis what number?
78 11% of 18 is what nutber?

18, OB%of 49 is what number?

&pag% 26
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’

Solving a proportion means finding a missing part of the ?ropomon You can
use unit rates to solve a propcrtmn First find the unit rate. Then multzpiy to
~solve the proportion, . .

Shawn filled 8 bags of leaves in 2 hours. At this Iate, how ma,uy bags W(}Lﬂd he
fill in 6 hours?

(1) Find a unit rate for the number of bags per hour. Dwzde by the denom;nater

4b
_ 28 fj’ffs 2%123%? E 1 hﬁﬁi The unit rate is 4 bags per hour.

@ Multiply the unit rate by 6 to find the numbﬁr of bags he will fill in 6 hours

 Unitrate Numberof hours’ Total
) ! b
4 - X . .6 = 24

At this rate, Shawn can fill 24 bags in 6 hours.. ,
IE two ratios form a proportion, the eross p;mduets are equal

Solve, 15 %
MO Wrzte the cross products. - 5:3=15-n
@ Simplify. o . 15 = 15m
® Solve the equation. ' n=1 Ny

Snive
1. The bookstore adver’uses 5 noteboc}ks for §7. 75 At thls rate, how

‘much will 7 no‘ceboaks cost?
2. Leroycan lay 144 bricks in 3.hours. At this rate, how many

" bricks can he lay in7 hours‘?

Solve each proportmn usmg cross produefs. -

.H.HL 2 3086 ' L.
3. 6 , 4g=5 5. 2=4
 Solve each proportion. .
0. 14_6 o2
6 %=1 77 =5 , 8 15=5
‘A .on A .on 6.5
% 15 =13 0. 26~ 100 ———— M 5 =15
32 _ 9% 6 . < 2 4
12. 55 =5 13'3"155-—%——& % 2=

@agﬁ 2.\



’

RATIOS, ?RGPORTK}N& & PERCENTS

Find the unit rate.

gﬁ‘: :

$56 :
e = DS 7 N phone calls in 2 hours =

Write the ratio as a fraction i simplest form.

gz,

18 _

65to130=__. g9 18
. 63

Solve each proportion by cross-multiplying.

g RS g oy oW g6, 36_b
x 5 ' 22 5, 3 144
Find each value. Pemenxbesr &

$7,  40% of 25 is what number? ’ iz %

S _ of T 100
s 18 iz 75% of what aumber?

£49,  What percent of 600 is 1807
G0, The cost of & mea! is $35.27 and you leave an 18% tip. What is the total cost of

the menl? Round to the nearest cent.

Page 22



. Name.___ - Class . __Date .

e Using Similar Fxgures

OQ&..‘OQII"ll'.‘lI.!C'G.Qiiﬂ"ﬂt.n'f""..i‘blli'!blﬁllﬂ“'..&tO‘O.'iO'.lOaa..‘.

C

Two polygons are similar, if - -
e corresponding angles have the same measure, zZ
- and ‘ ‘
. . - - n
e the lengths of corresponding sides are
proportional. x5y
A 5 B .
AABC~ AXYZ

You can use propo:rtzons to find m:tssmg lengths in
-~ similar (~) figures. :

: AB corresponds'to X 7,
() Find corresponding sides. o : AC corresponds to X Z.
- - o ' BC corresponds toYZ.
(@. Write ratios of their lengths in aproportion. 4B - -*;f
® Substitute the information you know. L 3=12
Write cross products. Solve for 7. S 5m=2-75
' n=3 ‘
The length of XZ is3 units..

The figures are similar. Fmd the c&xrespandmg sides.
Then complete the proportion and solve for ; n.

j . 1. AB corresponds to B o2 'SQ = =% "8A*
) - BC corresponds to .. . : cbB
CA correspondsto ___~ . 780_ -

The paixs of figures below are similar. Find the value of each variahle,
o 3.




Find the GCF or LCM for each. .
[27),  The GCF of24 & 32 is . j28)  TheLCM of 12& 16 is

129)  The GCF of 18, 30, & 60 is . /30) TheLOMof3,12,& I5is

Write the prime factorization of each number.

Y Cste__ ) g

Rge 24



The circumference (G) of a cirole is the
distance around . To find the citcumference, ol
multiply the diametet by w (pi). Pi is a riumber o
that Is approximately equal to 8.14, or 22, o

-
=

8.84 meters

it
)
—aly
™
O

Solve sach problerm.

4"

3’5) " A wreath has a diameter of 80 » {3’&) A pipe has a radius of 8.5 ceni:imafers,
centimetars. What is its clroumfershoe? What is its circumference? ‘
To find the area of a circle, multiply A = qr?
pi (w) times the radius squared. . A =gy ¢ 62
A=814-38

A=118.04 in?

Salve.
5.7') . A restaurant serves pancakes that are 8 . 13%:‘) A farmer found a‘mysterious flattened
inches In diameter. What'is the area of a area in his wheatfield. It was a vircle g
pancake? with & radius of 24 feet. What was its A% &4 N

Poge 25



Name Class Date

) Graphing and Writing Inequalities

PPN e PSSP NAI NSO P R RPN NEe ARG NEN0E0eECNN0PO0R0PRRENsRRINEEsNeSRIUESRTES
-

Two expressions separated by an inequality sign form an inequality, -~ - =«
An inequality shows that the two expressions are not equal. Unlike ) et
the equations you have worked with, an mequahty has many

solutions.

—

o

The solutions of an inequality are the values that make the inequality
true. They can be graphed on a number line. Use a closed circle ()
for = and = and an open circle (0) for > and <. For example:

x> ~—2 (“greater than”) x <=2 (“less than”) -
S 453500123 45 - S i 5210123 43
x=-2 (“g:reater than or equal to”) ’ x=-2 (“Iess than or equal to”) 1‘

....54«.321012345 "5“4“3-—2—1012345
Graph the inequality x > 4. '

The inequality is read as “x is greater than 4.” Since all numbers to
the right of 4 are greater than 4, you can draw an arrow from 4 to the
right. Since 4 is not greater than itself, use an open circle on 4.

1 1
T T

=2 -1 0 1 2 3 . 4 5 6 7 8

1.. Graph the inequality x = —3.'

a. Write the inequality in words.

b. Will the circle at —3 be open or closed?

¢. Graph the solution. — ; i : . —— : ; :
-7 -6 -5 -4 -3 -2 -1 0 1 2. 3

2. Graph the inequality x = ~1.

a. Write the inequality in words.

b. Will the circle at —1 be open or closed?

¢. Graph the solution. <ty
’ -5 ~4 -3 =2 -1 0 1 2 3 4 5

3. Graph the inedua]ity ¥<3

a. Write the inequality in words.

b. ‘Wil the circle at 3 be open or closed?

¢. Graph the solution. : ; : B e : : }
) -4 -3 -2 -1 0 1 2 3 4 5 6



Name - ) Class Date
s
. - " Solving Inequalities by Addmg or Subtractmg
...‘.O...Q.‘.".O“....‘..""‘.“lt".-.I'.I...'.C“ll...l..l.QOI.'IG.'.I."."..O. I;.}‘
To solve an inequality you can add the same number to or subtract it '
from each side of the inequality. _
Solvex +5=9.  Graph the solution. Solvely -3<2 Graph the solution.
x+5=9 y—3<2 | 5
x+5—5=9 -5 Subtract 5 from each side. T y—=3+3<2+3 Add 3 to each side.
x=4 Simplify. y<5  Simplify.
Graph: , S Graph:
— e St e et
-6 -4 -2 0 2 4 6 , -6 ~4 -2 0 2 4 ¢
Solve each inequality. Graph the solution.
L2+a>6 A A R
2, ~4+w=0 6 4 -2 0 2 4 &
33+a=8 R
4wrl=4 I A R e e

e 2T



Name : Class _ Date

' e . Solving Inequalities by Mul"‘éiplying or Dividing
To solve an inequality you can multiply or divide each side by the o
same number. However, if the number is negative, you must also * na
reverse the direction of the inequality sign.
Solve —4y = 16. Graph the solution. Solve —7341 > 2. Graph the solution.
~4y = 16 ,
=% - 16 Divide each side by ~4. S ¥>2
Reverse the direction _ _ :
of the inequality symbol. " (3)%>2(3) Multiply each side by 3.
y = —4 Simplify. . w>6 Simplify.
Graph: ' : Graph:
et e N e -
-6 -4 -2 0 2 4 6 -6 -4 -2 0 2 4 6

Solve each inequality. Graph the solution.

A
1

b 2as 10 |
2 < B e s
3 %a_‘z 5 4 0 2 4 6
4 18 = 9g <~:s :_z; :—; " 0 ' 2 ; ; :6; >
5.4<1 DTS S A



